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Answers

1. 1,824

2. 1,911

3. 624

4. 1,482

5. 442

6. 1,292

Use the array provided to solve each problem.

1) 48×38 =

40

30

8

(40 × 30)
1,200

(8 × 30)
240

(8 × 8)
64

8

(40 × 8)
320

2) 49×39 =

40

30

9

(40 × 30)
1,200

(9 × 30)
270

(9 × 9)
81

9

(40 × 9)
360

3) 39×16 =

30

10

9

(30 × 10)
300

(9 × 10)
90

(9 × 6)
54

6

(30 × 6)
180

4) 38×39 =

30

30

8

(30 × 30)
900

(8 × 30)
240

(8 × 9)
72

9

(30 × 9)
270

5) 34×13 =

30

10

4

(30 × 10)
300

(4 × 10)
40

(4 × 3)
12

3

(30 × 3)
90

6) 34×38 =

30

30

4

(30 × 30)
900

(4 × 30)
120

(4 × 8)
32

8

(30 × 8)
240
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